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A. Put a Tick (v) mark against the correct answer in the
brackets provided : 1x10=10

1. (d) naturalistic observation
(a} dependent variable

(b) social cognition

{b) Causal attribution theory
(d) Jigsaw classroom

(a} discrimination

(d) Leadership styles

{¢) compliance
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(d) transformational leader

10. (¢) It interacts with one another directly and
not indirectly
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B. Match the following from List—I with that of List—II
by writing the codes of List—II in the brackets
provided : 1x5=5

(@ (v)
(b} (iti)
@
(@) ()
(e} (iv)
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